








Certain people are sitting in a row 
facing north. There are as many people 
to the right of Z as there are to the left 
of Z. Y is third to the left of U who sits 
fourth from one of the extreme ends of 
the row. T sits at one of the extreme 
ends of the row. There are five persons 
sitting between T and W. X sits exactly 
in the middle of T and W. Two person 
sits between W and Z. Y does not sit at 
the extreme ends of the row. There are 
as many persons sitting between Y and 
V as many are sitting between W and Y.  

कुछव्यक्तिएक पंक्तिमें उत्तर कीओर

उनु्मख बैठे हैं |Z के दाएंऔर जितने

व्यक्ति हैं उतने ही Z के बाईओर हैं | Y ,U 
के बाईओर से तीसरे स्थान पर है िो की

पंक्ति के जकसी एकछोर से चौथे स्थान पर

बैठा है | | T एकछोर पर बैठा है | W
और T के बीच पांचव्यक्ति बैठे हैं |X, W  
और T के ठीक बीच में बैठा है | W  और Z 
के बीच दोव्यक्ति बैठे हैं | Y पंक्ति के

जकसी भी छोर पर नही ं बैठा है |Y और Vके
बीच उतने ही व्यक्ति बैठे हैं जितने W  और

Yके बीच बैठे हैं |




